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PAPER-7
Pharmacy Aptitude: Q. 1 to Q. 100

PHARMACY / WiHe
001.  What is the dose for an 8 month old infantif | 001, ws 8 WM & Ty & fow GUs +=N 3 IR

average adult dose of a drug is 250 mg- Teh g1 i 3Hd Ik Gk 250 faeiom g-
(A) 129 mg (A) 12.9 Tetom
(B) 11.7 mg (B) 11.7 foefum
(C) 133 mg (C) 13.3 Tucfom
(D) 10.3 mg (D) 10.3 Tetam

002. An example of chemical incompatibility is- 002. TS T T Teh ISR 2—

(A) Oxidation- reduction (A) JATFHTRTIT— HH
(B) Complexation (B) AT
(C) Precipitation (C) du=e
(D) All of the above (D) 3wk Gt
2-BA | [2] [ Contd...
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003. Collodions are liquid preparations meant for-
(A) For Eyes
(B) External use on skin
(C) Nasal use

(D) Internal use

004. An example of suspension containing
indiffusible solids is-
(A) Magnesium trisilicate mixture
(B) Calamine lotion
(C) Zinc sulphide lotion
(D) Sulphur lotion

005. Lecithin is an example of-
(A) Amphoteric surfactant
(B) Zwitterionic surfactant
(C) Both of the above
(D) None of the above

006. The stable form of theobroma oil is-

(A) a B) v
©) B (D) All of the above

007. Contact lenses are usually made from-
(A) HPMC
(B) Phthalates
(C) Polymethyl methacrylate
(D) All of the above

008. Which one is act as antiperspirant-
(A) Aluminium chlorohydrate
(B) Magnesium carbonate
(C) Both
(D) None of the above

003.

004.

00s.

006.

007.

008.

Collodions &1 & ?

(A) JfEl # g &

(B) o=l W STEd 3N R ST @
(C) ek o foTu 3= feharm rar 2
(D) 3iditeh IUFNT feham S 2

e 38 Ieh Tl 1 Teh IEEL 2
(A) TSy ersfafeene fasmor

(B) heHTST AN

(C) T HewEe oivE

(D) HeH ATH

wfafo fereent Sere 2-
(A) THIeRH Theee
(B) feaefanfaes ahade
(C) 3WIh g

(D) 3Tk | § g T

TorITsITT o T fEoR &9 -

(A) « B) v
©) B (D) 39k Gt

Fi-dde AH AHAR W Fha8 a-TT ITd 8-
(A) Tad T =

(B) herreted

(C) dicimersa Hafshere

(D) 39k Gt

HI9 @1 verd Wl & ®9 H S Hdl 8-
(A) Tegfufm FrEEsE

(B) AifIrm e

(C) ami

(D) STk § ¥ I3 Tl

7-AA |
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009. Cachets are also known as- 009. Cachet (y‘ig‘fia:r)—— & W 9 oft ST ST 8-
(A) Effervescent tablets (A) ThRME dacie
(B) Triturates (B) TrEgieH
(C) Volatile substances (C) arsqsfier gered
(D) Wafer capsules (D) 9 heS

010.  Certain low melting solids sometimes liquefy | 010. %o %q fiaer ot 3@ vee Hfi-wfi T
when mixed together. Such mixtures are g fie W gdiqd 8 9 &l 39 W& h
known as- fasor 1 ——————- % &9 H JHT ST 3-
(A) Indiffusible mixtures (A) 3TIcaed fasror
(B) Eutectic mixtures (B) ?@ﬁ'\z% (eutectic) Tasror
(C) Diffusible mixtures (C) fewrrstaat firsmn
(D) Complex mixtures (D) wifeat fasmor

011. The blood sugar regulating peptidehormone | 011. ®MHg AT & lzﬁcv@ Th R0 ! g @
present in human body is: IR A ST E——— 2l
(A) Actin (B) Insulin (A) Tl (B) g™
(C) Albumin (D) Haemoglobin (C) TasIftH (D) B

012. In liver, glucose is stored in the form of? 012. S H @G’ HI-- ®9 | gUgId forar Srar 2l
(A) Sucrose (A) IS
(B) Fructose (B) go_cl'?ﬁ?[
(C) Glycogen ©) TATERISH
(D) None of the above. (D) IWIE H ° B3 2|

013. Which of the following is known as good | 013. f= o O 59 3= ﬁé‘g;ja % ®Y § AT
cholesterol: T B:
(A) Chylomicrons (A) HIEAHTSSHIE
(B) Very-low-density-lipoproteins (B) Sgd-A e -
(C) Low density lipoproteins (C) 7 Tcd d1a fearaid=
(D) High-density lipoproteins (D) 3= T el fareq

7-AA | [4] [ Contd...
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014. Vitamin B1 is also known as: 014. faerfig dfi1------ % &9 § Wt STHET ST 8
(A) Thiamine  (B) Niacin (A) ofrefiE (B) Trfim
(C) Riboflavin (D) Pyridoxine (C) TsaIFAfed (D) UTSUSTTera
015. Pellagra is caused due to deficiency of: 015. Uoul-----—- <l Y o HNUT BT B
(A) Niacin (A) Franfam
(B) Menaquinone (B) TR
(C) Cyanocobalamin (C) HTEAThIETATHH
(D) Pantothenic acid (D) Tt TfEs
016. The most abundant macronutrient present in | (1. HHg IR H rﬁ@ ErcEet T ﬁaﬁ:’ﬁ{q—e
human body is: (macronutrient)—----— 2
(A) Potassium  (B) Sodium (A) UrefEm (B) difsem
(C) Calcium (D) Phosphorus (C) hicerm (D) IERRH
017. Relative increase in the number of circulating | (17. <TeT T ISR I THTRG HT hl T
red blood cells is known as: 3TUETRA Jhg I T o 9 H M1 S0 =
(A) Agranulocytosis (A) W@ﬁﬁﬂ
(B) Polycythemia (B) urefamsAftm=T
(C) Anaemia (C) TR
(D) Thrombopenia (D) SESIRIEDI
018. The specific rotation of a freshly prepared | (18. 4=t o ’Fﬁlﬁﬁ &% qNT IR °9id ol specific
solution of glucose in water is: rotation---- &:
(A) +112.2 (B)  +52.7 (A) +112.2 (B) +52.7
(C) -112.2 (D) -52.7 (C) -112.2 (D) -52.7
019. Precursor form of enzymes is known as: 019. TSSH o YATTH} €Y Hl--—--— %g Il 8
(A) Proenzymes (A) JTT3F e
(B) Apoenzymes (B) AI=TEE
(C) Isoenzymes (C) ATETEHE
(D) None of the above (D) Wk § T His &l
7-AA | [5] [ P.T.O.
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020. Barfoed’s test is used for detection of: 020. Barfoed 1 q0&0r T4 &1 91 @ & fow
(A) Protiens I9AT ToRaT 7T B:
(B) Carbohydrates (A) T
(C) Cholesterol (B) HIETEESE
(D) Glycerol (C) whictEeral
(D) frereria
021. The route of drug administration that gives 021. <a1 ¢4 1 °E S 100% a1 A9 <l B:
100% drug absorption is: (A) LA L
(A) Intravenous route (B) W qmt
(B) Intramuscular route (C) 3u=H T
(C) Subcutaneous route (D) Ffecarel umi
(D) Sublingual route
022. Which of the following is a systemic 022. f=fafed & @ =9 @1t tefie 7 St R
antacid: IR | S 2
(A) Sodium bicarbonate (A) Hifean aEehEe
(B) Calcium carbonate (B) hicy™m HraHe
(C) Magnesium hydroxide (C) Hififsem ssgiedTsS
(D) All the above (D) 3WIh a¥ft
023. Which of the following is H2 receptor | 023. fa=fafEa § 9 i H2 f@ce fos 2
antagonist: (A) Tomfeems
(A) Cimetidine. (B) Ranitidine (B) Ghfefea
(C) Metiamide (D)  All the above. (C) afeamee
(D) 3Tk |eft|
024. Which of the following is a haematinic: 024. Ta=fRa 5 @ 9-91 Th ehfeh 2
(A) Iron (A) NI
(B) Vitamin B12 (B) faerfim ft 12
(C) Folic Acid (C) wiferes Tfs
(D) All of the above. (D) 3IWIH @i
7-AA | [6] [ Contd...
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025. Which of the following is not a mydriatic | (25, ‘f=fifEd § & &N T TS Tore T 2
agent: (A) TSTATE (B) TZMTEA
(A) Adrenaline (B) Atropine (C) fierpiuEd (D)  ThgrEA
(C) Pilocarpine (D) Ephedrine
026. Which of the following is used to treat | 026, wifarfeg % o & forv frefafEd & @
glaucoma: fergret 39T fokam ST 2:
(A) Physostigmine (A) LIS ITAIEIEE]
(B) Timolol (B) fewrerra
(C) Acetazolamide (C) THISIATTSS
(D) All of the above (D) 3WIH @]
027. ‘Gray baby syndrome’ is major adverse 027. ¥ ol fagm "1 yH@ wfdekd g9E---- <al
effect of: B
(A) Tetracyclines (A) CeTaTSiFad
(B) Penicillins (B) uffafem
(C) Chloramphenicol (C) FARTHG Hehict
(D) Macrolides (D) HTRITSSH
028. Chloroquine is used in the treatment of: 028. FARIehIA o1 IuA fefarfEd o fopan sman 2:
(A) Stomatitis (B) Malaria (A) WHREEdE  (B) HoiE
(C) Urticaria (D) Bronchitis (C) Tu=ht (D) Siiehrgied
029. Which of the following is a local anesthetic: 029. fam=fafEd § 9 = T g gaeREr 2
(A) Cocaine (B)  Procaine (A) HIHH (B) Wb
(C) Lidocaine ~ (D) All the above. (C) efierpzd (D) SWh @i
030. Drug of choice in acute myocardial infarction | (30, g UavTe | q8e &I 2T &
is: (A) 3T
(A) Morphine (B) LV.guriA
(B) IL.V. heparin (C) ATgfereda
(C) Nitroglycerine (D) Q@Eﬁw
(D) Streptokinase
7-AA | [7] [ P.T.O.
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031. Which of the following is not a first line 031. dufes & for fefafed @ 9 <4 & qge 6
drug for tuberculosis: P RIRCIE RS
(A) Isoniazid (A) JAFENE
(B) Ethionamide (B) HERIEILIESS
(C) Rifampicin (C) Tt
(D) Pyrazinamide (D) UTSUTSHTTSS
032.  Which of the following is not a 5-membered | (32. o= & 9 %H a1 5-Fcefy favgervfi ge=
heterocyclic ring compound: ik T 2
(A) Pyrrole (B) Furan (A) CIES] (B) ®A
(C) Imidazoline (D) Indole (C) zfreife (D) IS
033. 1, 3,7, trimethyl xanthine is chemical name 033. 1, 3,7, TEHATEA A-ATeT THRINS AW 2
of (A) SHES
(A) Bemegride ) MERIRTSIES
(B) Theophylline (C) FEH
(C) Cafteine (D) T e
(D) Amphetamine
034. Barbitone, a CNS depressant chemically is: 034. TEMEM® ®9 9 Huqug feude arfaeH &
(A) 5,5 diethyl barbituric acid (A) 5,5 SEATEA Afeie] e TS
(B) 5-Ethyl, 5- Phenyl barbituric acid. (B) 5-Tfrd, S5- fIsa sifelesifie TfEs|
(C) Botha&b (C)Qi‘lﬁ'{agf?ﬁ:ﬁ
(D) None of the above (D) 3WIE | § HIg T8I
035. Which of the following is an amino-ethanol | (35. fy=fafE@a § & =19 @1 catechol ohT 3THFI-
derivative of catechol: AT SIS B:
(A) Adrenaline (A) Q%Rq-,g-rg:[
(B) Isoprenaline (B) STEEATSH
(C) Noradrenaline (C) :ﬁ@;ﬂﬂﬁz&[
(D) Methedrine (D) ﬁé)?ﬂgq
7-AA | [8] [ Contd...
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036. Which of the following is also known as | 036. fy=fafEd § @ ford AT & 4@ & Wt
‘tropyltropine’: EICIRCIGIHES
(A) Scopolamine (A) THIATATHA
(B) Homatropine (B) &WAdA
(C) Eucatropine (C) JehigdH
(D) Atropine (D) TaftH
037. Which of the following anticoagulant is 037. Tifgs w9 9 feu o w f=fafega § @ =959
inactive orally: a1 JeRT-Ue Ffsha 2
(A) Warfarin (A) B
(B) Heparin (B) BN
(C) Phenindione (C) WiHeE3a
(D) None of the above. (D) 39E | & I3 EE
038.  Insulin consists of 51 amino acids arrangedin | 038. ggfe o < q@waﬁ T AR ft 4 syafesrq
two chains A and B. How many amino acids 51 37 ufere gid @ 3R %’@?ﬂ T A
are there in chain A and B respectively: HA9N: fordd 1 tfge g @
(A) 21&30 (B) 30&21 (A) 21 330 (B) 30 3R 21
(C) 31&20 (D) 20&31 (C) 31320 (D) 20 3R 31
039. Oxytocin is the hormone secreted by: 039. ety form ufer gro arfad gMia 2:
(A) Anterior Pituitary (A) & Treeged
(B) Posterior Pituitary (B) U™ ﬁgﬂgﬁ
(C) Hypothalamus (C) TENIATH
(D) None of the above. (D) 39UE | H his EE
040.  Which of the following compound is used as | 040, fr=ferfaa @ o ferm Afires 1 3T ME-ged
bacterio-static agent in “eye-drops”: T Gﬁ?ﬂlﬂ-;@ﬁ?:ﬁ TSZ & ®Y H fomam S 2
(A) Cetrimide (A) afemrzs
(B) Benzalkonium Chloride (B) SSTTehII FARTES
(C) Hexachlorophene (C) FEIEN[CUR ]
(D) All of the above (D) 3IWIH @t
7-AA | [9] [ P.T.O.
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041. A typical adult has a blood volume of | (41. Teh HHT II&h % ThH hl HET ATHT Bt
approximately- -
(A) 10litres  (B) 5 litres (A) 10&fer (B) SR
(C) 72 litres (D) 300 ml (C) 72 et (D) 300 faett
042.  Which is not a live attenuated live vaccine— | (42, 9 91 Gofid A18d diehl 731 a-
(A) BCG (B) Measles (A) SIS (B) @&
(C) OPV (D) Pertusis (C) 3t (D) wI™E
043. Increased demand of oxygen causes- 043. 3TFdSH 6 9 | 3ig % BN ———— BT &
(A) Myocardial infarction (A) UeATeH
(B) Hypertension (B) 3= The™
(C) Angina pectoris (C) TSI Ygaiid
(D) Congestive heart failure (D) &eF s fawperan
044. Which one of the following is used in the | 044. fi=fif@a & 4 fereer swmm O, ec) ED
treatment of disease, AIDS- I9=R | foRam ST 2-
(A) Chloramphenicol (A) FAEEHIA
(B) Rifampin (B) Trwrfrm
(C) Tetracyclines (C) TCTETEFAN
(D) Amantadine (D) 3THACTSTSH
045.  The presence of the ozone layer in the upper | (45, Sudi agAsa # H wa s Iqfefd
atmosphere is important because- q’gacLuf 2 Hifh-
(A) it enhances the greenhouse effect (A) I8 MERT YuTd i e 8
(B) it increases all types of skin cancer (B) 39 1T ¥ft TehR o carel el § a5
(C) it absorbs harmful ultraviolet radiation ?{F@ ~§§ 2
(D) all of the above (C) I8 gTehTeh qareiTHT farfertor st sraemifya
AT &
(D) 3IWh aft
7-AA | [10] [ Contd...
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046. Essential amino acids are best described as 046. 3T THAT 3TFA 9 & Sl-———— -
those amino acids that are- (A) T G5B9 % AU a9 & e
(A) required for protein synthesis but cannot IR 2T TR SR S HehdT 2
be made by the body (B) W w9 W U TN e v S
(B) naturally occurring substances that T Y e & e e E
function in fighting infection ©) < % gan s PR % W
(C) important components of carbohydrates, .
. U 7
féts, and proteins | (D) F=- N N S —
(D) high-energy nutrients that promote .
growth and development I G 9
047. Which is not a symptom of TB- 047. Fr aﬁ:[ a1 el T A T 2
(A) Pain in chest (A) ?ﬂ?ﬁ H
(B) Chills, fever or night sweats (B) SSPY, &R 31 T1d I T ST
(C) Weakness or fatigue (©) IS AT AHT
(D) Headache (D) g
048. Diphtheria is caused by- 048 fewefifian fepereh o &ra =~
(A) Myxoviruses (A) fucemsEs
(B) Gram +ve bacillus (B) wm difHfea sfdre™
(C) Gram —ve bacillus (C) um HTiee sfted
(D) Aerobic bacillus (D) wifereh sifdre@
049. Which seizures are common in children? 049. =i § %9 & R T 7-
(A) Generalized tonic-clonic (A) FITEIT?ﬂ% [AIEERERIIEC)
(B) Absence seizures (B) frff =1 g
(C) Atonic (C) T
(D) Partial (D) AT
050.  In water the acceptable limit of chlorides of | 050, grft & Sfcvrm i Hfifvew & FcirEe
calcium and magnesium are- e T 2-
(A) 50-100 mg/L (A) 50-100 mg /L
(B) 100-200 mg/L (B) 100-200 mg / L
(C) 200-600 mg/L (C) 200-600 mg /L
(D) 700-800 mg/L (D) 700-800 mg / L
7-AA | [11] [ P.T.O.
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051. Ifa0.01 M solution of a weak acid has apH | 051, 3fe forelt Esit 37061 & 0.01 M =9 <Al pH
of 4.0, the pKa of the acid is: 4.0 8, A1 3 H pKa---
(A) 10.0 (B) 80 (A) 10.0 (B) 8.0
(€) 6.0 (D) 4.0 (C) 6.0 (D) 4.0
052. The compounds cthane, ethene, and ethyne | 052, 9ffiehi Ethane,ethene, 30T ethyne gl
exhibit this order of increasing acidity: 37FAdT 39 shH Il El?{ﬁ'h Hd %
(A) Ethyne < ethene < ethane (A) Ethyne < ethene < ethane
(B) Ethene < ethyne < ethane (B) Ethene < ethyne < ethane
(C) Ethane < ethyne < ethene (C) Ethane < ethyne < ethene
(D) Ethane < ethene < ethyne (D) Ethane < ethene < ethyne
053. functional group is responsible | (53. T T T i Tfeeran
for the instability of aspirin % foru fSeter 2
(A) Ester functional group (A) TEX HTHS T8
(B) Alcohol functional group (B) Y& HEicHS g
(C) Ketone functional group (€) FIH FEIlcaS g
(D) Ether functional group (D) 3R FHRITcHS TG
054. In Bronsted-lowry concept acid is- 054. SCeS—-a AIUOT e Q.
(A) Electron donor (A) SAFA T
(B) Proton donor (B) Wi ML
(C) Electron acceptor (C) TSI Teffehdl
(D) Proton acceptor (D) Wieiq Eeiehdl
055.  Geiger Muller counter is used to detect- 055. TioR Gor H1EeX - —- Tt s & fore 3w
(A) Protons (B) Neutrons foRar <traT 8-
(C) Photons (D) None (A) TIeTH (B) =g
(C) wreFt (D) hrE T
7-AA | [12] [ Contd...
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056. Water attack test can be applied for- 056. S ATHAY eI kT G ferder foru fepanm
(A) Borosilicate glass ST 2-
(B) Treated soda lime glass (A) SRIfafetehe Temd
(C) General purpose soda lime glass (B) HIST Y T8 & IU=Tid
(D) All of the above (C) |MET JAISH HIST AT3H TTE
(D) 3IuWh aft
057. Hydrogen peroxide is used as- 057. BT3SISH YUFETSS o1 U fehdeh &9 T foham
(A) Protective Sdm 2-
(B) Acidifying agent (A) Teem
(C) Antiseptic (B) Tfafedt wrgm usie
(D) Antioxidant (C) Thafes
(D) Terrelee
058. 1 Roentgen is equal to- 058. 1 QUi —----- + T B-
(A) 2.58x 10 CKg'! (A) 2.58 x 105 CKg'!
(B) 2.58 x 1073 CKg'! (B) 2.58 x 103 CKg'!
(C) 2.58x 108 CKg'! (C) 2.58 x 108 CKg'!
(D) 2.58 x 104 CKg'! (D) 2.58 x 104 CKg'!
059. Beta particles penetrate tissue upto- 059. 11 U ek | YIY Hd & Ife o - It &-
(A) 100 cm (B) 1000 cm (A) 100 Tt (B) 1000 &.H.
(C) lem (D) 10 cm (C) lem (D) 10 @.#.
060. Gold-198 is used as- 060. Gold198 =T 3UFI ferdeh &9 T fopam ST 8-
(A) Pernicious anaemia (A) TG Tt
(B) Thyroid functioning (B) UTIUSS HIHhS
(C) Rheumatoid arthiritis (C) ity smeffed
(D) Detection of tumors (D) SR I 4l TR
7-AA | [13] [ P.T.O.
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061. The peripheral nervous system includes the: | (61, ufeefiy dfienr o= & snfyer £72
(A) Somatic nervous system (A) efeeh afent o
(B) Brain (B) HfErsh
(C) Spinal Cord (C) T3 his
(D) Nuclei (D) iR
062. The pharyngeal tonsils are found in the 062. T 2ifa ® 9T 9d @
(A) Oropharynx (A) ST
(B) Laryngopharynx (B) AREIw e
(C) Nasopharynx (C) STETHOFT
(D) None of the above (D) 3WIH | § HIg T8l
063. Which of the following is NOT a lymphoid | (63. fa=fefad & & s @1 ferrwises 3m a8 87
organ? (A) wdTal
(A) Spleen (B) Yeifeq eif=ra
(B) Palatine Tonsil (C) IRAIsS
(B) Thyroid (D) Tempera <ifaa
(D) Lingual Tonsil
064. In suction method, the patient is allowed to 064. T fafrd, aff sl QoA W ——————————
sit in position on the table. | ______________ S 1wl Bt 2|
(A) Lithotomy position (A) Taeer feafa
(B) Supine (B) gured
(C) Prone (C) I
(D) None of the above (D) 3Wh | § HI5 T8l
065. is a sterilization method for | ¢¢5. -—-——-—-c——————_____ gigerrsti d
family planning in women. giER e & fou Tged) fafyr 21
(A) Tubectomy (A) et
(B) Laproscopy (B) oIIR=hIdY
(C) Both the above (C) 39TH gFl
(D) None of the above (D) 3IWIRE | | HIg T8l
7-AA | [14] [ Contd...
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066. The vaccine which provides resistance | 066. el o fEaT® Sy YeH HE e A 2
against TB is-----------ooe-- |
(A) BCG  (B) DPT A FEA (B) G
(C) Sabin (D) VZIG (C) arfem (D) VZIG

067. ELISA stands for 067. Uil & Hdddsl @ —————————————————
(A) Enzyme-linked immune sorbent assay (A) Enzyme-linked immune sorbent assay
(B) Human Immunodeficiency Virus (B) Human Immunodeficiency Virus
(C) Exercise Listed Intolerance Systemic (C) Exercise Listed Intolerance Systemic

Disorder Disorder

(D) None of the above (D) 3WIH | H Ig T8l

068. Receptors for touch, pressure Pain and | (068. ¥usi, ere e 3 oA o forg fgeed ---
Temperature are found in the ------------ |  _________ T qU 94 @
(A) Skin (B) Tongue (A) e (B) 9
(C) Ears (D) Nose (C) &N (D) T

069. Nerve impulses generated by photoreceptors | (69, dfSerT AT HIINEWT AT I ———————
leave the eye for the brain via the-------=-----= |  _______ & eI ¥ Aiegsh & fu 3mg @
(A) Optic nerve (A) s 44
(B) Acoustic nerve (B) afeh dfent
(C) Cornea nerve (C) ohifaT dfent
(D) Conjunctiva nerve (D) haITThal Rt

070. One function carried out by all lymphoid 070. Tt frmIze SHasel 3R 37 g foram = e
tissues and organ is EAR I
(A) Filtration of lymph (A) iR 1 fege
(B) Filtration of blood (B) &F o1 fHTugq
(C) Exteramedullary erythropoiesis (C) TwHfmgal Thyasim
(D) Lymphocyte production (D) foremaTge 3cuteH

7-AA ] [15] [ P.T.O.
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071. Which of the following is not an additive 071. fa=fafaa 5 9 =4 @1 additive T81 87
used in formulation? (A) 3
(A) Asbestos (B) dieTsh
(B) Talc (C) Hfiftem e
(C) Magnesium stearate (D) 9 T
(D) All of the above
072.  When was the first Pharmacopoeia of India | (072, YRd 1 Ygcll BEHITUAT he TehISA B3
published? oqr?
(A) 1945 (B) 1955 (A) 1945 (B) 1955
(C) 1965 (D) 1975 (C) 1965 (D) 1975
073.  What are the adverse effect of injecting large | (73, grEUEIe gureEl ! AT <l Sola i
volume of Hypertonic solutions? % Tfciehet SWTE AT 8 7
(A) Hypernatremia (A) BTEUEAT IR
(B) High blood pressure (B) 3= THAM™
(C) both of the above (C) 3IWIRE gl
(D) No side effect (D) hIg TS THaE Aol
074. For which formulation PET container are | (74. fog qﬁ":j\@m o o A3 e 3w 27
useful ? (A) focTeet Ofpm
(A) Blister packing (B) ESERE]
(B) Injections (C) vgred |rht
(C) Cosmetics (D) W H & hig T8l
(D) None of the above
075.  Granules are formed from the powder particles | (75, 9r@et sui 8 whivreprett &1 fAT---- gm0
by BT @
(A) wetting and nucleation (A) e 3R =faaaeE
(B) attrition or breakage (B) AfashHoT a0 il
(C) both the above (C) 39Tk gl
(D) none of the above (D) 3WIH § & hIg T8l
7-AA | [16 ] [ Contd...
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076. Mixing is carried out by 076. fasoT-—-—-—-——- 2 fopam SraT 2
(A) Ribbon mixer (A) T e
(B) Paddle mixer (B) Usa fet
(C) Impact mill (C) e fire
(D) All of the above (D) 3WIh @t
077. Sterilisation by moist heat is carried at... | ¢77. aﬁaagqq___ GICEIC) 3:ﬁ'{aa'|a 9 fepar STt
temperature and pressure 2
(A) 151b/121°C (A) 151b/121°C
(B) 101b/115°C (B) 101b/115°C
(C) 5Ib/1150C (C) 5Ib/115°C
(D) 151b/115°C (D) 151b/115°C
078. What are the ideal requirements of filter | (78. fiheer Hegm i A1esl HATavIHATT AT 8 7
medium (A) 9R& BT
(A) Porous (B) Afsha BT
(B) Inert (C) STesfict g
(C) Insoluble (D) 39Uk Gt
(D) All of the above
079. Arkas are made in 079. 3TH---—-—- o ST S04l 2
(A) Water (A) HHT
(B) Alcohol (B) Teehigrd
(C) Hydroalcohol (C) BT Teehlgrad
(D) All of the above (D) 39Uk Gt
080. The biggest soft gelatin capsule is 080.  TEH Wl soft Maifed Fgeaa---- 2
(A) 000 B) 5 (A) 000 B) 5
©) 4 D) 3 (C) 4 (D) 3
7-AA | [17] [ P.T.O.
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081. The volatile oils are the complex mixture | (81. oYM oA hT STeA T §|
of....... (A) THI- 3R HiEeRem—g @ & Hie-
(A) mono- and sesquiterpenes as well as e sfafea)
phenyl-propane derivatives. (B) HHI- 37 SEWH Teehiga 3T 32|
(B) mono- and diterpene alcohols and (€) gﬁwﬁ—.\q I 3= glﬁ\*aﬁ qfren|
ethers. (D) HHIEH THE 3R wieeH|
(C) sesquiterpenes and other aromatic
compounds.
(D) monoterpene acids and lactones.
082. Sesquiterpenes are formed of............ in the | 082. diei o gﬁwﬁ:\q ERCE L T
plants. g1 2
(A) farnezyl-pyrophosphate (A) BRANT TTsUHEGS
(B) stress compounds (B) d1a Afiehi
(C) colouring material (C) 1 grft
(D) degraded products of triterpenes (D) =g o faafed (degraded) 3edrei
083. What are known as balsams? 083. oTcEH AT 37
(A) resins dissolved in volatile oil (A) aTasfied 91 § feomfeq oM
(B) a mixture of volatile oils with (B) sesquiterpenes o BT TSIl dedl <hl
sesquiterpenes fereqor
(C) resins dissolved in water (C) Ut H geii aret I
(D) polysaccharide mixed with volatile oil (D) Uiciidehiise ! SNl ddd o @1
IESIRIISI
084. Saponin containing drugs are used as | (84. HUIFNT I @ Bl fEeie % & H UM o
detergents but also as........... AT 2, AT SHeRI TN ........... & ®Y H
(A) laxative. (B) bitter tonic. oft fepar SraT 21
(C) expectorant. (D) emetic (A) T (B) hedl 2
(C) fowms (D) wHH
7-AA ] [18] [ Contd...
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085.  Alkaloids are naturally occurring compounds | (85, feeheiiss JTehfdh &9 I 9N A a1 AR
which contain ............. in their molecules. 2, T s 3:[@34% = BT 2|
(A) one or more N atom(s) (A) T I Tk O 31fersh N T
(B) two heterocyclic rings (B) @ fowmeriviia ©g
(C) one C15 side chain on the benzene ring (C) oo fT W ek C15 9rge =4
(D) one or more N atom(s) originated from (D) TH AT 3w N wA) o ufre @
amino acids 39 Bid B
086. How to extract the alkaloids in mineral salt 086. 99 © Wi 79 & ®9 | ITThA3S e
form from plant? i ?
(A) Heating with organic solvent. (A) HIel Ik I & 1Y Bifen|
(B) Boiling with ammonium-hydroxide and (B) HifEm-grsgiedss M UMl % @Y
water. 3Ied B
(C) Shaking with water containing mineral (C) wie Tfire I g o |91 e 7
acid. (D) I 3R HHT TEHie W 91 e |
(D) Boiling with water and lead acetate.
087.  Shinoda test is employed to determine 087. Trer ghew —---- fuifa =@ & fau
(A) Talc (B) Tannins frenfra fepan Siran @
(C) Flavonoids. (D) Diterpenes (A) qTh (B) fH
(C) THEMESE| (D) ™
088. The lemon grass oil is distilled from: 088. T UTH kI ool fhad TH BT &
(A) citrus limon (A) Taea fomm
(B) orange peel (B) T 1 fesarent
(C) saponins (C) quifa=|
(D) Cymbopogan species. (D) Taraarme gt
089. Which drug is of animal origin? 089. U oA & i E gar IH H AT 77
(A) Valerian. (A)  JATEA|
(B) jatamansi. (B) ST
(C) Musk (C) &g
(D) Chenopodium (D) =mafeTm
7-AA | [19] [ P.T.O.
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090. Cinnamon is used as 090. cTrI-——- % ®9 # 937 foham S @
(A) laxative. (A) T
(B) purgative (B) U2 U HLAaTed! gar
(C) carminative (C) it
(D) expectorant. (D) %% e gan
091. Central Register of pharmacist is maintained | (91. wHHEIEE & T et ———-- HCCEID]
by S
(A) State pharmacy council (A) T BHH HEfod
(B) Pharmacy council of India (B) HHH! 3G 3AH gtean
(C) Both of the above (C) YUk Ml
(D) Drug controller of India (D) WA Sl T shelek

092. The absorption of glucose is decreased by | (92. IS h AN § HHi--—— h wH G

deficiency of Bl 8
(A) VitaminA (B) Vitamin D (A) faefm g (B) foerfm &
(C) Vitamin BI (D) Vitamin B12 (C) faefig &t 1 (D) faefi= B12
093. Schedule FF contains 093. 3T THTH o oiHe 8
(A) provisions applicable to blood banks (A) TS Sehi W RIWIERIE!
(B) standards for surgical dressings (B) TSt fam & forw ok
(C) standards for ophthalmic preparations (C) - gatft durlt & forw A
(D) list of instruments (D) 39T < =
094. Medicinal cannabis includes 094, ofiwefty wim -—-—- 2
(A) extract or tincture of hemp (A) T o1 37 7 fo=x
(B) prepared opium (B) IR THm
(C) poppy straw (C) TaEd
(D) all of the above (D) 3WIh a¥ft
095. The poisons act was made in 095. gt T -———— ¥ o= T A
(A) 1979 (B) 1919 (A) 1979 (B) 1919
(C) 1947 (D) 1985 (C) 1947 (D) 1985
7-AA | [20] [ Contd...
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096.  Application for the sale of homeopathic | (96, zr=ifes caret hi foshl & fou omae o
medicines should be made in foom |  ______ T d9r e ST =ntRT
(A) 19-B (B) 25B (A) 19t (B) 25B
(C) 30A (D) 65AA (C) 30A (D) 65AA
097. Cholesterol is eliminated after conversion to | (97. ————— IO & dE IR T hloid
(A) ATP eliminate foraT ST 8
(B) Phospholipid (A) Tidt
(C) Bile acid (B) WIEhIfcAlug
(D) none of the above (C) TUa s
(D) STIh ¥ § IS T&
098. Folic acid deficiency causes 098. wifTss Tfog At 8 ————- BT 8
(A) Loss of hair (A) STl ST FST
(B) megaloblastic anemia (B) TTTATeAT R T THT
(C) dermatitis (C) o= sl FoA
(D) all the above (D) 37Uk |eft
099. Silk is obtained from 099. WH --—-—-—- o 9" Bl 2
(A) Bombyx mori (A) Sireeg qi
(B) Silken sili (B) fagh &gt
(C) Hibiscus rosa sinensis (C) Teforera Ten foHtam
(D) None of the above (D) 3WIH § & hIg T8l
100. Nutmeg is obtained from seeds of 100. SE%A----- & ofiSTi & U9 BT 8
(A) Eugenia carophylum (A) a@ﬁzn ETiETGL
(B) Myristica species (B) fafifeest yemfa
(C) Elletaria species (C) T gt
(D) None of the above (D) 3WIH § & hIg T8l
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